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UPCOMING ONLINE BATCHES
MARCH 2023

15 MARCH 2023

08:00 AM t0 10:00 AM

01 MARCH 2023

10:30 AM to 12:30 PM

29 MARCH 2023

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS BANK ONLINE LIVE CLASS SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL

22 MARCH 2023

02:00 PM to 04:00 PM

BANK ONLINE LIVE CLASS

05 APRIL 2023

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

ENGLISH & BENGALI BILINGUAL

& www.mahendras.org e  7052477777/7052577777



G o

Real Champs- K&

. | o -
| ‘ o I

e W. 58 v

Ssurbhi Sindi

S8kmph thank you sir

Sourav Basu 12 days ag
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1 -y

MNitu Maurya 13

Hw ans 58km/hr.




Shivangi Gupta 7 days agc
Home work ans:58km/h

ey 1 GP Reply

harsh sharma 13 days ago
Today's homework answer is 58 thank so much sir ., all sessions are amazing sir
Di is very nice

o G el

s W reply
Arjoo Srivastava 13 days ago

Nitika Gupta 13 days agc H.w answer 58

58 kmph -

« 1reply

abhay singh 13 days ago
Answers is 58 it was a nice session sir sir please achi achi DI lana band mat karna they help us a lot for our exams. & &
= 8 8

e 2 GF Reply

Miharika Jha 13 days
Homework answer 5




IBPS Target Batch Schedule

** Monday- Basic topic ( 10min Quiz )

X Tuesday- Basic topic ( 10min Quiz )
X Wednesday- Basic topic ( 10min Quiz )
** Thursday- DI special ( Prelims Level )

** Friday- Top Trending Questions ( Word
Problems) - Same or Miscellaneous

X Saturday- Mains Magic ( Mains level) =



The speed of boat I and II in still water is 20 kmph and 28 kmph respectively. The

difference between the distance traveled by boat II and I is 240 km after a certain time.
Both boats are moving downstream. Find the sum of the downstream speed of both boats if
the total distance traveled by both boats is 1740 km?

X STl & arg 130X nhr a1fq A 20 FhaT gfd ger 3R 28 fhalt Ufd ger &1 ag n 3R
1ERT dF & 715 gt & fIT &1 3R v AT g77 & a1 240 fFeAr g1 aat ard Jr= i
3R I W &l Ife gl A3 g1 aF & T8 oI gl 1740 fRaAT ¥, dF gt A3t d am
% 3eJchel I DI T AT HITSTA?

é&b? A. 55 kmph
L. B. 58 kmph
C. 51 kmph
D. 53 kmph
E. 62 kmph



A shopkeeper marks up his goods 35% above the cost price and gives 23% discount to the
customer. At the time of purchasing, he uses 1120gm instead of 1 kg and at the time of

selling the goods, he gives 880gm instead of 1 kg. Find his profit percent ?

Ueh GehleIGR 31Ul AT &Y hd Hed ¥ 35% 3TAUh 3fhd BT & 3 TED Pl 23% TFe
@%?:aﬂqm aE 1 el & TSI 1120 AT HT 3TINT aT & 3R e 99 F AT, T8
1faw~ﬁasarsrrzr880am3m%| 3P ATH Ufaerd ATd hIierd?

36.6
29.31
32.3
44.2
NOT

m o 0w >



The income tax department has changed the method of calculating the tax amount from a
flat tax of 10% on the total income to a fixed charge of 20000rs plus 5% tax on the income
exceeding 200000rs. If a man’s tax amount as per the new calculation is 5000rs less than
that found by using the old formula, what is his total income ?

AR fAAWT A Pl 3T W 10% P Fold T F T A & I0TAT A &b dlldh @l 20000
TUY & fraes amel 3R 200000 TUJ @ 3R &Y 3T W 5% A F ded fear §1 afe a3
IUTAT & HFEAR ThEl <Fih T P T QA FF BT SUINT dHdeh TS 975 A § 5000 T4
A &, dl 3D Pol T FAT &7

320000
340000
350000
300000
250000

m o 0w >



2/5™ of mixture of milk and water is replaced by orange juice and the ratio of milk, water |
and orange juice in resulting mixture becomes 4:5:6 respectively. Initial quantity of milk is
20 liters less than that of water. Then what percent of resulting mixture taken out, due to
which total quantity of milk and orange juice in the final mixture becomes 66 liters ?

¢ 3R Ul & fHAH0T & 2/5 d AT A FR & T @ ufaeariag fear arar € 3R
%%UWU%&UT?E;\%I Ul 3R HAX & TH B 37UTd ShAT: 4 5: G%TEHT-IT%'I gy
URTHAD AT m?ﬂzﬁrgﬂm:ﬁr 20 oflcT A &1 arf gRomHT AT &1 fhaar gfara e
ST &, forad oo Hfdd fAsor & g 3R dd¥ & @ & HoT ATAT 66 ol & STl &2

40
45
25
35
55

WO 0w e



The cost price of article X and Y are same. Article X is sold at 20% profit and article Y is
sold for 126 rs less than the selling price of X. if the net profit by selling both the article is
14%, then what is the cost price of each article ?

g X 3R YA T Hed TAH &l X BT 20% o1H W o= ST & 3R g€ YB Xb [dehg

AT ¥ 126 TUY A W IAT AT &l IS AT TE3 A I F Yg oA 14% &, Al UcIdh
IEJ DT T Hed FT §?

1260
840

1050
1080
NOT

S
@)
NovoD

m o 0w >



A mixture contains 60 litres of pure milk. 10 litres of milk are taken out and 25 litres of
water are added to it and after that 60% of the mixture is taken out. Another mixture of 40 N
litres contains 60% milk and the rest syrup. If two mixtures are mixed then find the final

ratio of Milk, water and syrup ?

U fHHOT A 60 oficY Yg gU ¥. 10 oieX gy fAdprem Sar § 3R 38 25 ofiex urehr fAeman
STl & 3R 38 d1g fHH0T &l 60% el ST &1 40 #leT & Uh 31T fHHUT # 60% U
IR v ARy ¥ Ifg o e o Fremar srar € ar gy, ol 3R Ry & 3ifas sregura

SIGECAITDF
/ C“_ N/

5:20:10
11:12:13
6:1:25
22:5:8
NOT

mo oW p



There are some Red, Green, Yellow and Pink balls in a bag. If the probability of picking a
Red ball is 1/3, a Green ball is 1/4, a Yellow ball is 1/5; and the number of Pink balls is 13,
then find the probability of picking 2 Green balls and 1 Red ball ?

Ueh T # O o, W, Tl 3 Jerrelt 91 2 uﬁmﬂagaﬁraﬁramm 1/3 &, T &

it 174 &, T del g 1/5 ¥&; 3 e et Fr G 13 E, a2 & dig 3R 1w 9
eIl T FATIAT AT Hifera?

105/1711
107/1351
111/1200
89/1543

100/1587

(=)

"o N w >



The average cost price of article 'A' and article 'B' is 3000rs, the average cost price of
article 'B' and article 'C' is 3500rs and the average cost price of article 'A' and article 'C' is
3700rs. Articles 'A’', 'B' and 'C' are sold at the profit of 10%, profit of Z% and loss of 40%
respectively and the overall loss incurred in this process is 660rs then find the value of Z.?

‘A" IR 'B' T 3T hT HeI 3000 IUY §, 9&] 'B' IR 'C' A1 AT T HeT 3500 U

€ 3R aEg 'A'3R 'C'H HET HI FeT 3700 Wir Tl IEg 'A','B' N 'C' P HAA: 10% b
oTH, 2% S od 3R 40y% @& g T o= dldl%ﬁ?éﬂqﬁﬂnﬁggﬁrmﬁeeom%

al Z T AT AT HiforA?

10%
15%
20%
25%
30%

"o N w >



Ratio of CI earned only for 3rd year to CI earned only for 2nd year on an amount X rs at

R% per annum is 11/10 and CI earned on (X + 1500)rs in 2 years at the same rate is
1890rs. Find the value of X?
hael AEY a¥ & T 3ford HI3me 3R Shael @y ay & forw 3rfeid #1301 37eurd 11/10

& 3 FAT T U 2 gul #A (X +1500) TUY WX Hiold CI P 3HJUld 1890 TUY & X I AT
g HifFA?

Rs. 6000
Rs. 7500
Rs. 10000
Rs. 12000
Rs. 18000

m o 0w



15000rs when invested at simple interest of r % per annum amounts to 23100rs in 36
months. If the same sum had been invested for 1.5 years at compound interest of (r + 12)

per annum compounded half yearly then the amount received would be ?

15000 TUY I Ufd d¥ IR % b TYRUT ol X AU TRAT S1ar & Y 36 AT H 23100
TUA g S &1 TS AT I Al (r+12) Ui a0 & Tehglg I1aT G 1.5 aul & forw e
aINep U O gAfaa far rar ar, ar urg iy =47 gefre

22813.125
28420.125
28850.125
28620.125
NOT

(=)

m o a0 w »



